

$$\int \frac{e^{2x}}{1+e^{2x}} dx = \int \frac{1}{u} \cdot \frac{du}{2}$$

$$= \frac{1}{2} \int \frac{1}{u} du$$

$$u = 1 + e^{2x}$$

$$du = e^{2x} \cdot 2 dx$$

$$\frac{du}{2} = e^{2x} dx$$

$$= \frac{1}{2} \ln |u| + C$$

$$= \frac{1}{2} \ln (1 + e^{2x}) + C$$

Check:

$$y = \frac{1}{a} \ln(1 + e^{ax}) + C$$

$$\frac{dy}{dx} = \cancel{\frac{1}{a}} \cdot \frac{1}{1 + e^{ax}} \cdot e^{ax} \cdot \cancel{a}$$

$$\frac{dy}{dx} = \frac{e^{ax}}{1 + e^{ax}}$$

$$\int x^2 e^{x^3} dx = \int e^u \cdot \frac{du}{3}$$

$$u = x^3$$

$$du = 3x^2 dx$$

$$\frac{du}{3} = x^2 dx$$

$$= \frac{1}{3} \int e^u du$$

$$= \frac{1}{3} e^u + C$$

$$y = \frac{1}{3} e^{x^3} + C$$

$$\int (e^x - e^{-x}) dx = e^x + \int -e^{-x} dx$$

$$u = -x$$

$$du = -1 dx$$

$$-du = dx$$

$$du = -dx$$

$$= e^x + \int e^u du$$

$$= e^x + e^u + C$$

$$y = e^x + e^{-x} + C$$

check:

$$\frac{dy}{dx} = e^x + e^{-x} \cdot (-1)$$

$$= e^x - e^{-x}$$

$$\int e^{\sin \pi x} \cos \pi x dx = \int e^u \frac{du}{\pi}$$

$$u = \sin \pi x$$

$$du = \cos \pi x \cdot \pi dx$$

$$\frac{du}{\pi} = \cos \pi x dx$$

$$= \frac{1}{\pi} \int e^u du$$

$$y = \frac{1}{\pi} e^u + C$$

$$y = \frac{1}{\pi} e^{\sin \pi x} + C$$

$$\int \frac{e^x + e^{-x}}{e^x - e^{-x}} dx = \int \frac{1}{u} du$$

$$= \ln |u| + C$$

$$u = e^x - e^{-x}$$

$$du = e^x - \underbrace{(e^{-x})}_{(-x)} \cdot \underline{(-1)} dx$$

$$du = (e^x + e^{-x}) dx$$

$$y = \ln |e^x - e^{-x}| + C$$

$$12. \int \frac{(\ln x)^2}{x} dx = \int u^2 du$$

$$u = \ln x$$

$$du = \frac{1}{x} dx$$

$$= \frac{u^3}{3} + C$$

$$y = \frac{(\ln x)^3}{3} + C$$

$$\int \frac{\sec x \tan x}{\sec x - 1} dx = \int \frac{1}{u} du$$

$$u = \sec x - 1$$

$$\textcircled{du} = \sec x \tan x dx$$

$$y = \ln |u| + C$$

$$y = \ln |\sec x - 1| + C$$

P. 322

16, 17, 19, 25, 28